DETECTION CONNECTION DETAILS

TRAFFIC SIGNALS EQUIPMENT DISPLAY:

BERKLEY STREET

V:\Traffic Signals\7. Projects\Berkley & Roblin S-1033\Current_Berkley & Roblin S-1033.dwg

SENSOR POLE DETECTION NOTES N.TS.
NO. NO. LOCATION
MATRIX 1 10 |[SB LANE
CONSTRUCTION NOTES:
PROJECT SCOPE P8
1. INSTALL CONDUIT, BASE AND PIT AS SHOWN. -
2. REBUILD SERVICE AND INSTALL GROUND ROD ON REg 5 11
WOOD POLE #12 AS SHOWN. INSTALL MAST AND KLE\( ST é\-
DISCONNECT ON SW QUADRANT. BER 10.
3. INSTALL EQUIPMENT AS SHOWN. 5 9.
4. TIMINGS REQUIRED. Na] —
8 SBT .0
PROJECT COORDINATION : PR =
1. COORDINATE WORK WITH (CA’s NAME), (204) 12. T o
XXX—XXXX. %
2. COORDINATE HYDRO SERVICE REBUILD WITH (HYDRO &
DESIGNER), (204) XXX—XXXX. RE: JUTA PERMIT No.
BXXXXX
()]
<
C \ )
5' 7.
2 X
” m
2" PE DUCTS = o
1.5” PE STUB zZ " 2. N
-
. 1. 7
. \ 8
) 10. \i; { R (] [
8. 1.
= INSTALL B
A GROUND ROD 12. \
14 : N
< \ 3
o \ -
5| \ 6. PA [
O \ r
m 3 3
~ \ \ P4 A
= C\/ /% S.
a 2
< ]
4,
S = 3. I l /T
I %. x ﬁ /
5. h! /
ROADWAY & SIDEWALK CONSTRUCTION
TO BE COMPLETED BY OTHERS (TYP.)
EQUIPMENT DISPLAY LEGEND |NO. EQUIPMENT LIST ARM |BASE| B.B. | [ NO. EQUIPMENT LIST ARM BASE| B.B.
ESTING 1. 110" SIGNAL A
PROPOSED
(AS SHOWN BELOW) 1 2
7] PEDESTRIAN HEAD 3 SERVICE:
% PEDESTRIAN HEAD WITH PCS
PEDESTRIAN CORRIDOR BOX S.
6.
VEHICLE DETECTION AREA
PB,_  PUSHBUTTON & DIRECTION
8.
DWEB  APS SINGLE DIRECTION
9.
o APS DUAL DIRECTION
//} (2 SEPARATE SPEAKERS) 1 0_
®
INTERNAL REVIEW Eg} TRAFFIC SIGNAL HEAD TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
oPERATIONS PLAN VIEW: UNDERGROUND CONSTRUCTION
SATE TS EXISTING PROPOSED (AS SHOWN BELOW) BOLT SQUARE (B.S.)
TIMINGS (INITIAL): 1 :250 . TRAFFIC SIGNAL POLE ABANDONED DISCONNECTED (LOOPS ONLY)
NEW TIMINGS? DATE INITIALS 1 1/2" PE CONDUIT i POLE BASE O IKEE :g:: : 2 ;;i:: (’_ \s\
TIMINGS (PRE-IFC): ® RED FLASHER 2" PE CONDUIT —re— - CONTROLLER BASE TYPE "C" - 8 1/8" SCREW TYPE o
NEW TIMINGS? DATE INITIALS 2" ENT CONDUIT N —y— PEDESTAL BASE E TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
T™MC: TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
oTe WTALS ® AMBER FLASHER AERIAL / BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
STREET LIGHTING: ® (CIRCUIT™A" OR "8") CONDUIT STUB — SERVICE BOX (PIT) O TYPE "E" - 9 9/16" SCREW TYPE
TYPE "F" - 9 9/16"
AT AL O Luminare BREAK-IN - 24" PRECAST PIT A TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
TRAFFIC MANAGEMENT: SPLICE - — 30" PRECAST PIT A TYPE "GS" - 8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
DATE INITIALS ) TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
FACILITIES PLANNING: 36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
DATE INITIALS @ CAMERA SAW-CUT LOOPS W TYPE"I"-7 3/4"
REMOVAL TYPE "J"- 10 5/8", 1 1/4" DIA. BOLTS
&2' LOW ARM (SHOWN FROM CENTRE) / R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
HIGH ARM (SHOWN FROM SIDE) PREFORMED LOOPS < S Z: S TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAN | — 150 WM PROPERTYLINE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS rocomTs FOINEERS SR
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (& THE CITY OF \;\/ I | \] | Q IPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER 300 SEWER CURB & CURB RAMP - r— STREET LIGHT oo UNDERGROUND STRUCTURES ID DATE (vvyYMmiDD) WO ° PU B L I C WO RKS DEPARTM ENT
@ WARNING TIE = . RS. PRELIMINARY mmpeg TRANSPORTATION DIVISION
DRAWN BY
CATCH BASIN D SLOPE —rlTl—l_l-l_l—rl_ RAILWAY POLE m LIABILITY DISCLAIMER NOTICE:
— - WATER & WASTE REVIEW I TS, NeoiATN Ve o oun comveEce e NOT FOR
CURB INLET v CULVERT b - GUY-WIRE — C.H. DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
HYPRO — - — PUILDING 777 FENCE " " [\lo(():-/lx-TElgNs OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST creceR ey Efggomsgs:gl’:‘;ﬁgg A'E':D‘f{’\zfii%gNSB'LOS\EEER(%EZE;E%E'ESOE:&?NB“EE TRAFFIC SIGNALS JIESS OTHERHISEROTED
o — = & CUARDRA SHOMN OR THAT THE GIVEN LOCATIONS ARE EXACT. CONFIRMATION OF EXISTENGE AND OEPARTMENT ‘SHALL NOT IN ANY WAY SUFFER ANY LIABILTY BERKLEY ST. & ROBLIN BLVD. PRAVING NUMBER
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES A ISSUED FOR INTERNAL REVIEW 2020/03/20 RS SUFFERED BY SUCH PARTY ARISING EROM THEIIY? USE OF, OR RELIANCE 8_1 033
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED | BeFore PROCEEDING WITH CONSTRUCTION. NO. | REVISION DATE By UPON. THIS INFORMATION ’
. (YYYY/MM/DD) APPROVED BY g .



AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
750 LDS

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
6.

AutoCAD SHX Text
150 WM (ABAND.)

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
200 WM (ABAND.)

AutoCAD SHX Text
WM (ABAND.)

AutoCAD SHX Text
600 FM

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
W

AutoCAD SHX Text
5.

AutoCAD SHX Text
4.

AutoCAD SHX Text
3.

AutoCAD SHX Text
W

AutoCAD SHX Text
200 WM (ABAND.)

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
250 WM

AutoCAD SHX Text
7.

AutoCAD SHX Text
2.

AutoCAD SHX Text
1.

AutoCAD SHX Text
600 LDS

AutoCAD SHX Text
250 WM

AutoCAD SHX Text
200 SEWER

AutoCAD SHX Text
350 GAS

AutoCAD SHX Text
200 SEWER

AutoCAD SHX Text
12.

AutoCAD SHX Text
11.

AutoCAD SHX Text
8.

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
9.

AutoCAD SHX Text
350 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
200 SEWER

AutoCAD SHX Text
WM (ABAND.)

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
W

AutoCAD SHX Text
C

AutoCAD SHX Text
TREE LINE

AutoCAD SHX Text
1.5" PE STUB

AutoCAD SHX Text
600 FM

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
W

AutoCAD SHX Text
BOLLARD (TYP.)

AutoCAD SHX Text
2" PE DUCTS

AutoCAD SHX Text
R

AutoCAD SHX Text
10.

AutoCAD SHX Text
INSTALL GROUND ROD

AutoCAD SHX Text
6.

AutoCAD SHX Text
5.

AutoCAD SHX Text
4.

AutoCAD SHX Text
3.

AutoCAD SHX Text
7.

AutoCAD SHX Text
2.

AutoCAD SHX Text
1.

AutoCAD SHX Text
12.

AutoCAD SHX Text
11.

AutoCAD SHX Text
8.

AutoCAD SHX Text
9.

AutoCAD SHX Text
ACCUWAVE 1

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
NB

AutoCAD SHX Text
PB

AutoCAD SHX Text
SB

AutoCAD SHX Text
PB

AutoCAD SHX Text
10'

AutoCAD SHX Text
10'

AutoCAD SHX Text
8'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
18'

AutoCAD SHX Text
C

AutoCAD SHX Text
8'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
35'

AutoCAD SHX Text
8'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
SB

AutoCAD SHX Text
PB

AutoCAD SHX Text
EB

AutoCAD SHX Text
10'

AutoCAD SHX Text
8'

AutoCAD SHX Text
WB

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
10.

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
10'

AutoCAD SHX Text
PB

AutoCAD SHX Text
P6

AutoCAD SHX Text
P6

AutoCAD SHX Text
P2

AutoCAD SHX Text
P2

AutoCAD SHX Text
P4

AutoCAD SHX Text
P4

AutoCAD SHX Text
P8

AutoCAD SHX Text
P8

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
1.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
2.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
3.

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
BERKLEY STREET

AutoCAD SHX Text
ROBLIN BOULEVARD

AutoCAD SHX Text
18' SIGNAL

AutoCAD SHX Text
4.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
5.

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
6.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
35' SIGNAL FOR CAMERA

AutoCAD SHX Text
7.

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
8.

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
332 CABINET/170 CONTROLLER

AutoCAD SHX Text
9.

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
10.

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
11.

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
12.

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
8'

AutoCAD SHX Text
A

AutoCAD SHX Text
ROBLIN BOULEVARD

AutoCAD SHX Text
BERKLEY STREET

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
AD

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT, BASE AND PIT AS SHOWN. INSTALL CONDUIT, BASE AND PIT AS SHOWN. 2. REBUILD SERVICE AND INSTALL GROUND ROD ON REBUILD SERVICE AND INSTALL GROUND ROD ON WOOD POLE #12 AS SHOWN. INSTALL MAST AND DISCONNECT ON SW QUADRANT. 3. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. 4. TIMINGS REQUIRED. TIMINGS REQUIRED. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE REBUILD WITH (HYDRO COORDINATE HYDRO SERVICE REBUILD WITH (HYDRO DESIGNER), (204) XXX-XXXX. RE: JUTA PERMIT No. BXXXXX

AutoCAD SHX Text
NB LANE

AutoCAD SHX Text
ACCUWAVE 1

AutoCAD SHX Text
4

AutoCAD SHX Text
SB LANE

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
10


DETECTION CONNECTION DETAILS

TRAFFIC SIGNALS EQUIPMENT DISPLAY

BARKER BOULEVARD

V:\Traffic Signals\7. Projects\Barker, Dale & Roblin S-1204\Current_Barker, Dale & Roblin S-1204.dwg

N.T.S.
SENSOR POLE DETECTION
NO. NO. LOCATION NOTES
13.
12.
CONSTRUCTION NOTES:
. >
PROJECT SCOPE iy, %
S
1. INSTALL CONDUIT, BASES AND PITS AS SHOWN. @ @
2. REBUILD SERVICE AND INSTALL GROUND ROD ON WOOD 2. 8 Q
POLE #13 AS SHOWN. INSTALL MAST AND DISCONNECT ON @
XX QUADRANT. TOTAL LENGTH OF SERVICE CABLE: 25m. &l ]
35\ £ L — A 35
3. INSTALL EQUIPMENT AS SHOWN. @ 4
4. TIMINGS REQUIRED. : 1 /SBEJD @ [
© El
PROJECT COORDINATION ®@@ D
1. COORDINATE WORK WITH (CA’s NAME), (204) XXX—XXXX.
2. COORDINATE HYDRO SERVICE REBUILD WITH (HYDRO
DESIGNER), (204) XXX—XXXX. RE: JUTA PERMIT No. BXXXXX @X%S\
D
RO .
()] —<
o 11. o T JODY )
<C
E 5,
=
2 R @30
m @
~ GEE)
|
m
®)
(0l
= g
o
4
5 /@
35 %
SN WA
1 | a
MOVE NORTH CROSSWALK IF NECESSARY "‘%\,/
FOR ALIGNMENT %
&
<C
ol J == = DALE BOULEVARD
—
- EQUIPMENT DISPLAY LEGEND
8 ; 6 \ MOVE CURB RAMP TO EXISTING LOCATION
\\—cﬁ)x o EXISTING PROPOSED (AS SHOWN BELOW)
- W AROUND QUR POLE NEAR THE MEDAN TP 72.0% LOOP LEAD N
I g TO MEDIAN TIP VEHICLE DETECTION 12’
m 7] PEDESTRIAN HEAD VEHIC TRAFFIC SIGNAL HEAD LOW ARM (SHOWN FROM CENTRE)
o © HIGH ARM (SHOWN FROM SIDE)
@
% o SLAANFEAD - PB PUSH BT ON & @ TRAFFICSIGNALPOLE  (® RED FLASHER ) LUMINAIRE
[R] s oo gmasr o) pmameme B AMENUIR © owen
L |
NO. EQUIPMENT LIST ARM BASE| B.B. | | NO. EQUIPMENT LIST ARM BASE| B.B.
1. | 35" SIGNAL FOR XX WATT LUMINAIRE 8 | OD | DD []|10.] 35" SIGNAL FOR XX WATT LUMINAIRE oD | DD
2. | CANTILEVER 8 | OD | DC |]11.| CANTILEVER 4’ | OD | DC
D ] 2 3. | 35" SIGNAL FOR XX WATT LUMINAIRE 8 | OD | DD |[12.] 332 CABINET/2070 CONTROLLER
.\
4. | 35" SIGNAL FOR XX WATT LUMINAIRE oD | DD ||13.
AND DETECTION SERVICE:
ROADWAY AND SIDEWALK CONSTRUCTION :
TO BE COMPLETED BY OTHERS (TYP.) S. | CANTILEVER 8 | 0D | DC
6. | 35 SIGNAL FOR XX WATT LUMINAIRE 8 | oD | DD
7. | 35" SIGNAL FOR XX WATT LUMINAIRE oD | DD
AND DETECTION
8. | CANTILEVER 4 | OD | DC
w 9. | 35" SIGNAL FOR XX WATT LUMINAIRE 8 | OD | DD
INTERNAL REVIEW DALE BOULEVARD TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
OPERATIONS:
EXISTING PROPOSED (AS SHOWN BELOW) DIA.
IMINGS (NTIALY DATE INTIALS ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
. NEW TIMINGS? DATE INITIALS 1 1/2" PE CONDUIT —r—— POLE BASE e} TYPE "A" -8 1/8" (’— \\
TYPE "B" - 6 3/4"
TIMINGS (PRE-IFC): P LAN VI EW . U N D E R G R O U N D C O N STR U CTI O N 2" PE CONDUIT —re— - CONTROLLER BASE TYPE "C" - 8 1/8" SCREW TYPE s
NEW TIMINGS? DATE INITIALS 1 300 2" ENT CONDUIT N —y— PEDESTAL BASE E TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
T™MC: : TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
DATE NTIACS AERIAL / BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
STREET LIGHTING: CONDUIT STUB — SERVICE BOX (PIT) O TYPE"E" -9 9/16" SCREW TYPE
TYPE "F" - 9 9/16"
PATE AL BREAK-IN - 24" PRECAST PIT A TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
TRAFFIC MANAGEMENT: SPLICE - — 30" PRECAST PIT A TYPE "GS" - 8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
DATE INTIALS TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
FACILITIES PLANNING: 36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
DATE INITIALS SAW-CUT LOOPS W TYPE"I"-7 3/4"
REMOVAL TYPE "J" - 10 5/8", 1 1/4" DIA. BOLTS
/ R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAN | — 150 WM PROPERTYLINE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS rocomTs FOINEERS SR
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (& THE CITY OF WI N |QIPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER 300 SEWER CURB & CURB RAMP - r— STREET LIGHT oo UNDERGROUND STRUCTURES ID DATE (vvyYMmiDD) WO ° PU BLIC WO RKS DEPARTM ENT
@ wARNING TLE = . RS. PRELIMINARY mmpeg TRANSPORTATION DIVISION
DRAWN BY
CATCH BASIN D SLOPE —rlTl—l_l-l_l—rl_ RAILWAY POLE m LIABILITY DlSCLAlMER NOT'CE
. - WATER & WASTE REVIEW FIE ST s VgD o rous e e NOT FOR
CURB INLET v CULVERT b - GUY-WIRE — R.P. DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
HYDRO — - BULDING e FENCE " " [\lo(():-/lx-TElgNs OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST CHEckep ey Efggomsgs:gl’:‘;ﬁgg A'E':D‘f{’\zfii%gNSB'LOS\EEER(%EZE;E%E'ESOE:&?NB“EE TRAFFIC SIGNALS HNLESS OTHERWISE NOTE
oe — TREE & CUARDRAL SHOWN OR THAT THE GIVEN LOGATIONS ARE EXACT CONFIRVATION OF EXISTENGE ANDI DEPARTMENT SHALL NOT IN ANY WAY SUFFER ANY LIABIITY BARKER BLVD./DALE BLVD. & ROBLIN BLVD. [°rmenomes
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES A ISSUED FOR INTERNAL REVIEW ;VUH::TES’::EED\/Ss SB%Hgr\/iYRTYPI:RRTSYINgOFTROII\’:IU'IEJHREYIIY? lIJ_SI?sC’)FOgR gémﬁﬁg: S 1 204
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPQOSED | serore PROCEEDING WITH CONSTRUCTION. NO. | REVISION DATE BY UPON. THIS INFORMATION ’ -
. (YYYY/MM/DD) APPROVED BY , .



AutoCAD SHX Text
200 W.M. (ABAND.)

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
BUS SHELTER

AutoCAD SHX Text
COMMUNICATION PEDESTAL

AutoCAD SHX Text
TELEPHONE PEDESTAL

AutoCAD SHX Text
BUS SHELTER

AutoCAD SHX Text
COMMUNICATION SERVICE BOX

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
200 W.M.

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
1800 L.D.S.

AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
1800 L.D.S.

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
3.

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
5.

AutoCAD SHX Text
6.

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.

AutoCAD SHX Text
10.

AutoCAD SHX Text
11.

AutoCAD SHX Text
13.

AutoCAD SHX Text
250 SEWER

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
300 W.M.

AutoCAD SHX Text
HYDRO PEDESTAL

AutoCAD SHX Text
300 W.M.

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
12.

AutoCAD SHX Text
COMMUNICATION SERVICE BOX

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
C

AutoCAD SHX Text
4.

AutoCAD SHX Text
9.

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
MOVE CURB RAMP TO EXISTING LOCATION SO PEDESTRIANS WON'T NEED TO WALK AROUND OUR POLE NEAR THE MEDIAN TIP

AutoCAD SHX Text
MOVE NORTH CROSSWALK IF NECESSARY FOR ALIGNMENT

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
PB

AutoCAD SHX Text
WB

AutoCAD SHX Text
NB

AutoCAD SHX Text
PB

AutoCAD SHX Text
PB

AutoCAD SHX Text
PB

AutoCAD SHX Text
EB

AutoCAD SHX Text
NB

AutoCAD SHX Text
EB

AutoCAD SHX Text
SB

AutoCAD SHX Text
SB

AutoCAD SHX Text
WB

AutoCAD SHX Text
3.

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
5.

AutoCAD SHX Text
6.

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.

AutoCAD SHX Text
10.

AutoCAD SHX Text
11.

AutoCAD SHX Text
13.

AutoCAD SHX Text
4.

AutoCAD SHX Text
9.

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
MATRIX 2

AutoCAD SHX Text
MATRIX 3

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
4'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
4'

AutoCAD SHX Text
8'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
W

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
450 L.D.S.

AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
W

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
12.

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
1.

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
2.

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
3.

AutoCAD SHX Text
BARKER BOULEVARD

AutoCAD SHX Text
ROBLIN BOULEVARD

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
6.

AutoCAD SHX Text
ROBLIN BOULEVARD

AutoCAD SHX Text
BARKER BOULEVARD

AutoCAD SHX Text
DALE BOULEVARD

AutoCAD SHX Text
72.0± LOOP LEAD

AutoCAD SHX Text
72.0± LOOP LEAD

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.

AutoCAD SHX Text
9.

AutoCAD SHX Text
332 CABINET/2070 CONTROLLER

AutoCAD SHX Text
10.

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
11.

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:300

AutoCAD SHX Text
DALE BOULEVARD

AutoCAD SHX Text
8'

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
8'

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
 AND DETECTION

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
4'

AutoCAD SHX Text
 AND DETECTION

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
4'

AutoCAD SHX Text
12.

AutoCAD SHX Text
13.

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT, BASES AND PITS AS SHOWN. INSTALL CONDUIT, BASES AND PITS AS SHOWN. 2. REBUILD SERVICE AND INSTALL GROUND ROD ON WOOD REBUILD SERVICE AND INSTALL GROUND ROD ON WOOD POLE #13 AS SHOWN. INSTALL MAST AND DISCONNECT ON XX QUADRANT. TOTAL LENGTH OF SERVICE CABLE: 25m. 3. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. 4. TIMINGS REQUIRED. TIMINGS REQUIRED. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE REBUILD WITH (HYDRO COORDINATE HYDRO SERVICE REBUILD WITH (HYDRO DESIGNER), (204) XXX-XXXX. RE: JUTA PERMIT No. BXXXXX


V:\Traffic Signals\7. Projects\Hunterspoint & Roblin S-1413\Current_Hunterspoint & Roblin S-1413.dwg

CONSTRUCTION NOTES:

PROJECT SCOPE

1.

INSTALL CONDUIT AND BASES AS SHOWN.

DEEP—SET BASE #3 2.5m DEEP.
INSTALL EQUIPMENT AS SHOWN.

CROSSING TIME FOR NORTH CROSSWALK:
SOUTH CROSSWALK:

PROJECT COORDINATION

1.

COORDINATE WORK WITH (CA’s NAME), (204) XXX—=XXXX.

16 SECONDS.

INSTALL

17 SECONDS,

{"'\ (@)

4. |,

N.T.S.

TRAFFIC SIGNALS EQUIPMENT DISPLAY

ROBLIN BOULEVARD

()
(0
<
a INSTALL DEEP—-SET .
- BASE 2.5m DEEP. | hS 2
(0]
2 INSTALL BY AUGER. T = e
O £ o0
o R NB
z < 1.9 |3
|
om MOVE CROSSWALK 2.4m
O WEST TO TO ACCOMODATE
o POLE #3 NEAR 250 WM
|
. i R
T T T—
\ 1.0
(ﬁ X, i
[ ROADWAY & SIDEWALK CONSTRUCTION HUNTERSPOINT ROAD
TO BE COMPLETED BY OTHERS (TYP.)
EQUIPMENT DISPLAY LEGEND
EXISTING PROPOSED (AS SHOWN BELOW)
@ 1)
/]  PEDESTRIAN HEAD J XEEL?LE DETECTION % TRAFFIC SIGNAL HEAD 12 LOW ARM (SHOWN FROM CENTRE)
HIGH ARM (SHOWN FROM SIDE)
PEDESTRIAN HEAD PUSH BUTTON &
% WITH PCS PB, DIRECTION @  TRAFFIC SIGNAL POLE ® REDFLASHER D LUMINAIRE
PEDESTRIAN APS SINGLE N APS DUAL DIRECTION ® AMBER FLASHER
-.'k CORRIDOR BOX DWEB  pirecTion Dy (2 sePARATE SPEAKERS) ® (CReuT A" OR"S) © CcAMERA
NO. EQUIPMENT LIST ARM BASE| B.B. | | NO. EQUIPMENT LIST ARM BASE| B.B.
1. | CANTILEVER 8 | OD | DC
2. | 35" SIGNAL FOR XX WATT LUMINAIRE 8 | ODb | DD
3. | 35" SIGNAL FOR XX WATT LUMINAIRE 8 | G*¥ | GD
*BASE AT 2.5m DEPTH
4. | CANTILEVER 8 | OD | DC
INTERNAL REVIEW 1:250 TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
OPERATIONS:
EXISTING PROPOSED (AS SHOWN BELOW) DIA.
DATE INITIALS ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
TIMINGS (INITIAL):
NEW TIMINGS? DATE INITIALS 11/2" PE CONDUIT PR POLE BASE O TYPE'A"-81/8 - \\
_ ) TYPE "B" - 6 3/4" (’
TIMINGS (PRE-IFC): 2" PE CONDUIT —rr—. - CONTROLLER BASE TYPE "C" - 8 1/8" SCREW TYPE o o
NEW TIMINGS? DATE INITIALS 2" ENT CONDUIT N —y— PEDESTAL BASE E TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
T™C: TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
oATE NTALS AERIAL / BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
STREET LIGHTING: CONDUIT STUB — SERVICE BOX (PIT) O TYPE "E" - 9 9/16" SCREW TYPE
PATE AL BREAK-IN —— 24" PRECAST PIT A TYPE P -9918
_ - TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
TRAFFIC MANAGEMENT: SPLICE > — 30" PRECAST PIT A TYPE "GS" - 8 1/8", 1 1/4" DIA. BOLTS, 76mm PROV.
DATE INITIALS ) TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
FACILITIES PLANNING: 36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
DATE INITIALS SAW-CUT LOOPS TYPE "I"-7 3/4"
REMOVAL TYPE "J" - 10 5/8", 1 1/4" DIA. BOLTS
/ R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
— e ACCOUNTS: ENGINEER'S SEAL:
WATERMAIN e — PROPERTY LINE TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS
HYDRANT O ROADWAY COMMUNICATION COMMUNICATION R.S. ( 9 THE CITY OF VV I I J I J IPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER 300 SEWER CURB & CURB RAMP ) STREET LIGHT [ UNDERGROUND STRUCTURES ID DATE (vvvvmmoD) RS inni e PUBLIC WORKS DEPARTMENT
@ wARNING TiE = . S. PRELIMINARY W pPeg TRANSPORTATION DIVISION
DRAWN BY
CATCH BASIN D SLOPE —rlTl—l_l-l_l—rl_ RAILWAY POLE ® LlABlLlTY DlSCLAlMER NOT'CE
THE DIGITAL INFORMATION PROVIDED FOR YOUR CONVENIENCE HEREIN .
CURB INLET v CULVERT - - GUY-WIRE — WATER & WASTE REVIEW ID IS FOR USE AT YOUR OWN RISK. THE CITY OF WINNIPEG, PUBLIC WORKS NOT FOR UNITS:
b - DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
HYDRO _ _HYDRO_ BUILDING TTTTT7 FENCE N N NOTE: CHECKED BY INFORMATION AND IT SHOULD NOT BE CONSTRUED AS ASBUILT UNLESS OTHERWISE NOTED
LOCATIONS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST ::',“J’SSOMSAETS'O%NEE A':FDORS“’LAJL'E'; SBHEOUCER%EE‘)JSEB[; FSOSRVPELCNNT”:E P E D ESTR IAN CO RRI DO R
GAS 100 GAS TREE GUARDRAIL INFORMATION AVAILABLE. BUT NO GUARANTEE IS GIVEN THAT ALL EXISTING UTILITIES ARE : DRAWING NUMBER:
——— & SHOWN OR THAT THE GIVEN LOCATIONS ARE EXACT. CONFIRMATION OF EXISTENCE AND DEPARTMENT SHALL NOT IN ANY WAY SUFFER ANY LIABLITY HUNTERSPOINT RD. & ROBLIN BLVD.
EXISTING LEGEND | PROPOSED | EXISTING LEGEND | PROPOSED | EXISTING LEGEND | PROPOSED | SACTL00AToN or Lt servces wier se osTaneo rrow e woniount urmes 2 3323 TOR T =RRAL BEPER SUFFERED BY SUCH PARTY ARISING FROM THEIR USE OF, OR RELANCE S-1413
BEFORE PROCEEDING WITH CONSTRUCTION. NO. REVISION (YYQ\ﬁMTMEDD) BY APPROVED BY UPON, THIS INFORMATION.



AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
250 SEWER

AutoCAD SHX Text
350 HP GAS

AutoCAD SHX Text
250 WM

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
200 WM (ABAND.)

AutoCAD SHX Text
1050 LDS

AutoCAD SHX Text
250 WM

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
350 HP GAS

AutoCAD SHX Text
200 WM (ABAND.)

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
1050 LDS

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
200 SEWER (ABAND.)

AutoCAD SHX Text
150 WM (ABAND.)

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION PEDESTAL AND VAULT

AutoCAD SHX Text
250 SEWER

AutoCAD SHX Text
1.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
2.

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
MOVE CROSSWALK 2.4m WEST TO TO ACCOMODATE POLE #3 NEAR 250 WM

AutoCAD SHX Text
INSTALL DEEP-SET BASE 2.5m DEEP. INSTALL BY AUGER.

AutoCAD SHX Text
8'

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
PB

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
8'

AutoCAD SHX Text
1.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
NB

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
SB

AutoCAD SHX Text
PB

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
PB

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
PB

AutoCAD SHX Text
NB

AutoCAD SHX Text
SB

AutoCAD SHX Text
2.

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
(105°)

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
(105°)

AutoCAD SHX Text
(285°)

AutoCAD SHX Text
(285°)

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
1.

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
HUNTERSPOINT ROAD

AutoCAD SHX Text
ROBLIN BOULEVARD

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
5.

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
ROBLIN BOULEVARD

AutoCAD SHX Text
HUNTERSPOINT ROAD

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT AND BASES AS SHOWN. INSTALL INSTALL CONDUIT AND BASES AS SHOWN. INSTALL DEEP-SET BASE #3 2.5m DEEP. 2. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. 3. CROSSING TIME FOR NORTH CROSSWALK: 17 SECONDS, CROSSING TIME FOR NORTH CROSSWALK: 17 SECONDS, SOUTH CROSSWALK: 16 SECONDS. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX.COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX.

AutoCAD SHX Text
4.

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
8'

AutoCAD SHX Text
G*

AutoCAD SHX Text
GD

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
8'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
*BASE AT 2.5m DEPTH


1000

NOTES:
600 | 600 400 —_—
LIFTING 500 ANCHOR BOLTS
400 HOOKS © 1. 4-16 mm DIA. ANCHOR BOLTS 725 LONG C/W 75 mm HOOK
OPTION A /4\ 508 (2) | " 2. CAN/CSA G40.21-GR.300W
1405 AJF FEX. SHAPE) K — 3. TOP 125 mm THREADED UNC CLASS 2A
o F w|< 4 HOTDIP GALVANIZED FULL LENGTH TO ASTM A153 CLASS C
<15 5 BCD=BOLT CIRCLE DIAMETER TO CENTER OF BOLT GROUP
20 mm DEEP "V GROOVE ON 610M RINGS S|S 6 BOLTS SHALL BE HELD IN PLACE ACCURATELY WITH A STEEL
CHAMFER INDICATING LOCATION ) TEMPLATE.

4-20M x 900 LONG

OF ACCESS HOLES (2 LOCATIONS)

4-16 DIA. ANCHOR BOLTS 4-16 DIA. x 725 ANCHOR
AT 292 BCD BOLTS C/W 75 HOOK
600 DIA. AUGERED HOLE 25 CHAMFER (TYP.)
OR 800 x 800 EXCAVATION

OPTION B

(400 DIA. ROUND SHAPE)

206

20 mm DEEP "V" GROOVEON
CHAMFER INDICATING LOCATION
OF ACCESS HOLES (2 LOCATIONS)

4-16 DIA. ANCHOR BOLTS
AT 292 BCD

6-10M RINGS
4-20M x 900 LONG

600 DIA. AUGERED HOLE
OR 800 x 800 EXCAVATION
1:20
TWINE ANCHOR BOLTS
50.8 (2") ANCHOR _\ 50 BASE PROJ.
CONCRETE AREAS BOLT PROJ. — LANDSCAPED AREAS
N (hiC ) L
TWINE —— | Attt [ o .
/| /. \
75 DIA. PVC CONDUIT L/ :L FARR J.: \ Q =
" /7 I I
(2 REQD) p N i
U/G SERVICE DUCT Al AN =
(BY OTHERS) ! ! g 2z 3
|2 [ AR
AL Y 2
i i m
il h
75 RADIUS PROTECTIVE b o \ =
ENVELOPE . \— GRANULAR
] BACKFILL
PRE-CAST BASE
(400 A/F HEX / |~
400 DIA. ROUND) o -
UNDISTURBED EARTH 600 DIA. 3
CRUSHED SToN® OR 800 x 800
EXCAVATION
PRE-CAST BASE INSTALLATION
1:20

/£
\\6-10M RINGS
4-20M x 900 LONG

2-75DIA. PVC «®

THREADED PORTION OF ANCHOR BOLTS SHALL BE PROTECTED
FROM FOULING PRIOR TO CONCRETE POUR.

PRE-CAST CONCRETE BASE

COVER

CONDUITS 12
/A SECTION (TYP.) .
v 1:20 5

6.
7.
8.
9.
10.

1.

CAN/CSA SPECIFICATION: CAN3-A23.4-09

CEMENT: TYPE HS SULPHATE RESISTANT, 82 EXPOSURE
CONCRETE STRENGTH: 35 MPa AT 28 DAYS

MAXIMUM AGGREGATE: 20 mm, AIR CONTENT 3-6%

25 mm CHAMFER ON ALL EXPOSED CONCRETE EDGES.

PVC CONDUITS: 75 (3") DIA. LONG RADIUS (24") SWEEP ELBOW
(90%)

CONDUITS SHALL BE HELD SECURELY IN CENTER OF BASE
PRIOR TO CONCRETE POUR.

CUT CONDUITS FLUSH AT TOP AND SIDES OF CONCRETE BASE
AFTER CURING.

INDENT THE NUMBER "SD-315.A (1.0 m)" ON THE TOP OF THE
BASE.

LIFTING HOOKS: 5 mm 7 x 19 STAINLESS STEEL CABLE
WEIGHT OF PRE-CAST BASE: 302 kg

REINFORCING STEEL

1.
2.
3.

CAN/CSA G30.18-GR.400W

ALL BARS TO BE HOT DIP GALVANIZED.

CLEAR COVER 35 mm

BACKEFILL MATERIAL

1.

2.

SAPEC

Certificate of Authorization
Dillon Consulting Limited (MB)
No.1789 Date: _04/06/2018

CRUSHED STONE FOUNDATION: TYPE 3 AS PER CW 2030 2.1.2

INSTALLATION

MARK THE CENTER AND OFFSET LOCATIONS BEFORE
EXCAVATING.

OPEN CUT OR SOFT DIG/AUGER DRILL EXCAVATION.
EXCAVATION DEPTH EQUALS THE EMBEDMENT DEPTH PLUS

1.

S

10.

1.

12.

13.

150 mm + FOR CRUSHED STONE FOUNDATION.
AUGER HOLE 600 DIA. OR EXCAVATION 800 x 800.

PLACE, LEVEL, AND COMPACT CRUSHED STONE FOUNDATION
TO EDGE OF EXCAVATION.

VERIFY ORIENTATION OF PRE-CAST BASE ANCHOR BOLTS AND
CONDUIT HOLES TO SITE LAYOUT DRAWINGS.

SET BASE UNIT WHILE IN A PLUMB ORIENTATION INTO FINAL
LOCATION (DO NOT TILT UP).

SET UNIT TO PROPER ELEVATION, +10 mm.
BRACE BASE AS REQUIRED TO MAINTAIN UNIT IS LEVEL, TRUE,

AND PLUMB UNTIL BACKFILL HAS BEEN PLACED AND
CONSOLIDATED.

PLACE AND COMPACT GRANULAR BACKFILL UNIFORMLY
AROUND PERIMETER OF THE BASE IN 150 mm LIFTS.

PAUSE BACKFILLING AT BOTTOM OF CONDUIT TRENCH, THEN
INSTALL BELOW GRADE ELECTRICAL CONNECTIONS.

FINISH BACKFILLING AND COMPACTING IN 150 mm LIFTS TO THE
ROUGH GRADE OR AS DIRECTED BY THE CONTRACT
ADMINISTRATOR.

REMOVE SOILS OR STAINS FROM THE EXPOSED CONCRETE.

AND 2.1.5.

BACKFILL: GRANULAR BACKFILL TYPE 2 AS PER CW 2030 2.1.2

TO 2.1.5.
DIMENSIONS ARE IN MILLIMETRES

(UNLESS OTHERWISE NOTED)
Revisions
_©  THE CITY OF WINNIPEG
VVinnipeg PUBLIC WORKS DEPARTMENT

Reference Spec. No.

2

07/11/18 | GENERAL REVISIONS BY DILLON CONSULTING

KNL

1

04/06/18| DESIGNED BY DILLON CONSULTING

CW 3620 - KNL
No.| Date Description By

Designed By: Drawn By: Scale :
KNL KNL AS SHOWN

SIGNAL POLE BASE-TYPE PM  [omosis, oo _

; ) Drawing No.
(PUSHBUTTON /SPEAKER—20 DIA. BOLTS) SSR 07/11/2018

) Approved: SD—31 5A




2200 NOTES:
1475 725
- ANCHOR BOLTS INSTALLATION
1. 4-32 mm DIA. ANCHOR BOLTS 1600 LONG C/W 75 mm 1. MARK THE CENTER AND OFFSET LOCATIONS BEFORE
LIFTING HOOK
HOOKS EXCAVATING.
2 2. CAN/CSA G40.21-GR.300W 2. SOFT DIG/AUGER DRILL EXCAVATION.
90 (3.5") 3. TOP 125 mm THREADED UNC CLASS 2A 3. EXCAVATION DEPTH EQUALS THE EMBEDMENT DEPTH
L 3— H— —)— ——1 4. HOT DIP GALVANIZED FULL LENGTH TO ASTM A153 PLUS 150 mm + FOR CRUSHED STONE FOUNDATION.
E | R A A - - - -+- 4] wl< CLASS C 4. AUGER HOLE 760 DIA.
—r1 11— -1 "1 " 1T "1 - -1 1" —Z,‘ g 5. BCD =BOLT CIRCLE DIAMETER TO CENTER OF BOLT 5. PLACE, LEVEL, AND COMPACT CRUSHED STONE
n =l
4-32 DIA. x 1600 ANCHOR e |t S 1 i i s e © b GROUP FOUNDATION TO EDGE OF EXCAVATION.
BOLTS C/W 75 HOOK \ + 6. BOLTS SHALL BE HELD IN PLACE ACCURATELY WITHA 6. VERIFY ORIENTATION OF PRE-CAST BASE ANCHOR
(292 BCD) STEEL TEMPLATE. BOLTS AND CONDUIT HOLES TO SITE LAYOUT
25 CHAMFER (TYP \_ onG 13-10M RINGS —/ 7. THREADED PORTION OF ANCHOR BOLTS SHALL BE DRAWINGS.
(TYP.) 4-20M x 2050 LON x PROTECTED FROM FOULING PRIOR TO CONCRETE 7. SET BASE UNIT WHILE IN A PLUMB ORIENTATION INTO
2.75 DIA. PVC CONDUITS 0|4 POUR. FINAL LOCATION (DO NOT TILT UP).
m SECTION (TYP 8 760 PRE-CAST CONCRETE BASE 8. SET UNIT TO PROPER ELEVATION, +10 mm.
. ( ) 510 1. CAN/CSA SPECIFICATION: CAN3-A23.4-09 9. BRACE BASE AS REQUIRED TO MAINTAIN UNIT IS
w 1:20 2. CEMENT: TYPE HS SULPHATE RESISTANT, S2 LEVEL, TRUE, AND PLUMB UNTIL BACKFILL HAS BEEN
TN EXPOSURE PLACED AND CONSOLIDATED.
OPTION A ! 3. CONCRETE STRENGTH: 35 MPa AT 28 DAYS 10. PLACE AND COMPACT GRANULAR BACKFILL
\
e ANCHOR BOLTS (510 AJF HEX. SHAPE) ;;,/ : 4. MAXIMUM AGGREGATE: 20 mm, AIR CONTENT 3-6% rl:ﬂ}llitlaFFingLY AROUND PERIMETER OF THE BASE IN 150
\ T \ N
90 (3.5") ANCHOR _\ o - Q Vi@ Q\r 5. 25mm CHAMPER ON ALL EXPOSED CONGRETE EDGES. ; * p5\;sE BAGKFILLING AT BOTTOM OF CONDUIT
BOLT PROJ. & Cj() 1] 4 6. PVC CONDUITS: 75 (3") DIA. LONG RADIUS (24") SWEEP TRENCH, THEN INSTALL BELOW GRADE ELECTRICAL
CONCRETE AREAS AREAS 20 mm DEEP "V" GROOVE ON | NN ELBOW (90°) CONNECTIONS
( —r CHAMFER INDICATING - . ‘
| ,ﬁ%&_{_‘ | LOCATION OF ACCESS 13-10MRINGS 7. CONDUITS SHALL BE PLACED TO FIT IN HEX. SHAPE 12. FINISH BACKFILLING AND COMPACTING IN 150 mm
i HOLES (2 LOCATIONS) | BASE SO THAT THEY EXIT THROUGH A FLAT SURFACE. LIFTS TO THE ROUGH GRADE OR AS DIRECTED BY
TWINE — | AL A TN 8. CONDUITS SHALL BE HELD SECURELY IN CENTER OF THE CONTRACT ADMINISTRATOR.
) o -
I ERFERRNE N R 4-32 DIA. ANCHOR BOLTS 206 4-20M x 2050 LONG BASE PRIOR TO CONCRETE POUR. 13. REMOVE SOILS OR STAINS FROM THE EXPOSED
75 DIA. PVC CONDUIT s al; U1 < AT 292 BCD
(2 REQD) e NS 9. CUT CONDUITS FLUSH AT TOP AND SIDES OF CONCRETE.
/g/, : : : : \\2\ 760 DIA. AUGERED HOLE CONCRETE BASE AFTER CURING.
O L L O 10. INDENT THE NUMBER "SD-315.B" ON THE TOP OF THE
1 | H N AN BASE.
U/G SERVICE DUCT ! ! 11. LIFTING HOOKS: 8 mm 7 x 19 STAINLESS STEEL CABLE
(BY OTHERS) l l v 12. WEIGHT OF PRE-CAST BASE: 1080 kg
| |
75 RADIUS PROTECTIVE : ; T REINFORCING STEEL
=
ENVELOPE o 760 1. CAN/CSA G30.18-GR.400W
a o 510 2. ALL BARS TO BE HOT DIP GALVANIZED.
ol &
BZ g 3. CLEAR COVER 75 mm
i i = /\ BACKFILL MATERIAL
. é OPTION B 1. CRUSHED STONE FOUNDATION: TYPE 3 AS PER CW
S DIA.ROUND SHA 2030 2.1.2 AND 2.1.5.
PRE.CAST BASE i i = (510 DIA. ROUND SHAPE)
(510 A/F HEX/ / H— © 2. BACKFILL: GRANULAR BACKFILL TYPE 2 AS PER CW
510 DIA. ROUND) k 20 mm DEEP "V" GROOVE ON & 20302.1.2TO2.1.5.
CHAMFER INDICATING ]
SR LOCATION OF ACCESS 13.10M RINGS
/ HOLES (2 LOCATIONS) 4-20M x 2050 LONG DIMENSIONS ARE IN MILLIMETRES
UNDISTURBED EARTH 4-32 DIA. ANCl/-l?l; :}Oé'gg - - (l{N]-ESS OTHERWISE NOTED)
evisions
760 DIA. AUGERED HOLE /-@\ THE CITY OF WINNIPEG
\M"nnipeg PUBLIC WORKS DEPARTMENT
PLAN Reference Spec. No.
A 1:20 CW 3620 1| 07/11/18| DESIGNED BY DILLON CONSULTING KNL
CRUSHED STONE / No.| Date Description By
FOUNDATION 510 4
o Designed By: Drawn By: Scale :
760 DIA. — KNL KNL AS SHOWN
SWAPEC SIGNAL POLE BASE-TYPE PG e s Rl
e N~ rawing 0.
PRE-CAST BASE INSTALLATION Certificate of Authorization SSR 07/11/18
1:20 Dillon Consulting Limited (MB) (MED|UM DUTY—-32 DIA. BOLTS)
Approved: SD—31 5.B
No.1789 Date: _07/11/2018




2200 NOTES:
1475 725
— ANCHOR BOLTS INSTALLATION
_— LIFTING o 1. 4-32 mm DIA. ANCHOR BOLTS 1600 LONG C/W 75 mm 1. MARK THE CENTER AND OFFSET LOCATIONS BEFORE
HOOKS ~ HOOK EXCAVATING.
50.8 (2") 2. CAN/CSA G40.21-GR.300W 2. SOFT DIG/AUGER DRILL EXCAVATION.
| 3. TOP 125 mm THREADED UNC CLASS 2A 3. EXCAVATION DEPTH EQUALS THE EMBEDMENT DEPTH
1 S Oy IS I s Iy IS S I I ]‘ 4. HOT DIP GALVANIZED FULL LENGTH TO ASTM A153 PLUS 150 mm + FOR CRUSHED STONE FOUNDATION.
. L .
w|< CLASS C 4. AUGER HOLE 1070 DIA.
— 11— 1t -—6 -—--——-——-—#L/-——-——--—-—g g 5. BCD=BOLT CIRCLE DIAMETER TO CENTER OF BOLT 5. PLACE, LEVEL, AND COMPACT CRUSHED STONE
i ~| = GROUP FOUNDATION TO EDGE OF EXCAVATION.
4-32 DIA. x 1600 ANCHOR I g Vs it s St R I g N 6. BOLTS SHALL BE HELD IN PLACE ACCURATELY WITH A 6. VERIFY ORIENTATION OF PRE-CAST BASE ANCHOR
BOLTS C/W 75 HOOK STEEL TEMPLATE. BOLTS AND CONDUIT HOLES TO SITE LAYOUT
(457 BCD) \ T 7. THREADED PORTION OF ANCHOR BOLTS SHALL BE DRAWINGS.
\ 13-10M RINGS —/ PROTECTED FROM FOULING PRIOR TO CONCRETE 7. SET BASE UNIT WHILE IN A PLUMB ORIENTATION INTO
25 CHAMFER (TYP.) 4-20M x 2050 LONG v 1070 POUR. FINAL LOCATION (DO NOT TILT UP).
PRE-CAST CONCRETE BASE
2.75 DIA. PVC CONDUITS 0 u CAST CONC S 8. SET UNIT TO PROPER ELEVATION, +10 mm.
8 710 1. CAN/CSA SPECIFICATION: CAN3-A23.4-09 9. BRACE BASE AS REQUIRED TO MAINTAIN UNIT IS
/A SECTION (TYP.) 2. GEMENT: TYPE HS SULPHATE RESISTANT, S2 LEVEL, TRUE, AND PLUMB UNTIL BACKFILL HAS BEEN
\_J 1:20 EXPOSURE PLACED AND CONSOLIDATED.
OPTION A 3. CONCRETE STRENGTH: 35 MPa AT 28 DAYS 10. PLACE AND COMPACT GRANULAR BACKFILL
TWINE ANGHOR (710 AJF HEX. SHAPE) 4. MAXIMUM AGGREGATE: 20 mm, AIR CONTENT 3-6% UNIFORMLY AROUND PERIMETER OF THE BASE IN 150
50.8 (2") ANCHOR 50 BASE PROJ. mm LIFTS.
8(2") BOLTS 5. 25 mm CHAMFER ON ALL EXPOSED CONCRETE EDGES.
BOLT PROJ. LANDSCAPED 2] i i 11. PAUSE BACKFILLING AT BOTTOM OF CONDUIT
NCRETE AREA \ 0 ] 4 AREAS 20 mm DEEP "V" GROOVE ELBOW (90°) CONNECTIONS.
( T )
| IR ON EHAA'V_'FFIEE 'NE"ACATE'NG [~ 13-10MRINGS 7. CONDUITS SHALL BE PLACED TO FIT IN HEX. SHAPE 12 FINISH BACKFILLING AND COMPACTING IN 150 mm
| N OCATION OF ACCESS &) BASE SO THAT THEY EXIT THROUGH A FLAT SURFACE.
- T HOLES (2 LOCATIONS) X LIFTS TO THE ROUGH GRADE OR AS DIRECTED BY
TWINE ——— "/ AR 8. CONDUITS SHALL BE HELD SECURELY IN CENTER OF THE CONTRACT ADMINISTRATOR.
75 DIA. PVC CONDUIT LA S ON 3 4-32 DIA. ANCHOR BOLTS 4.50M x 2050 LONG BASE PRIOR TO CONCRETE POUR. 13. REMOVE SOILS OR STAINS FROM THE EXPOSED
(2 REQD) —4—" A4 D 0 AT 457 BCD “eUMX 9. CUT CONDUITS FLUSH AT TOP AND SIDES OF CONCRETE.
AW IS CONCRETE BASE AFTER CURING.
=g LI \2\ 1070 DIA. AUGERED HOLE 10. INDENT THE NUMBER "SD-XXX" ON THE TOP OF THE
-9 1 HI NN | BASE.
: | ] ﬁ 11. LIFTING HOOKS: 10 mm 7 x 19 STAINLESS STEEL
U/G SERVICE DUCT ! ! ' CABLE
(BY OTHERS) : : . 12. WEIGHT OF PRE-CAST BASE: 2090 kg
75 RADIUS PRE?\K/I?ECI:_B\F{E : : e 1070 REINFORCING STEEL
! ! a - p 1. CANJ/CSA G30.18-GR.400W
H H 3 % < 2. ALL BARS TO BE HOT DIP GALVANIZED.
i i i i Nz o 3. CLEAR COVER 75 mm
-t X g OPTION B 5 py N BACKFILL MATERIAL
PRE.CAST BASE L | 1] H z (710 DIA. ROUND SHAPE) [/,, Q 1. CRUSHED STONE FOUNDATION: TYPE 3 AS PER CW
(710 AIF HEX/ H ” % | ) 2030 2.1.2 AND 2.1.5.
710 DIA. ROUND) I c SHEH - O -4 2. BACKFILL: GRANULAR BACKFILL TYPE 2 AS PER CW
20 mm DEEP "V" GROOVE ON 2030 2.1.2 TO 2.1.5.
\ CHAMFER INDICATING 1 ¢ ! i ’ 13-10M RINGS
LOCATION OF ACCESS r e 4.20M x 2050 LONG DIMENSIONS ARE IN MILLIMETRES
N— GRANULAR HOLES (2 LOCATIONS) (UNLESS OTHERWISE NOTED)
BACKFILL —
UNDISTURBED EARTH 4-32 DIA. ANCHOR BOLTS 323 Revisions
AT 457 BCD - /_@\ THE CITY OF WINNIPEG
1070 DIA. AUGERED HOLE Winnipeg PUBLIC WORKS DEPARTMENT
CRUSHED STONE ‘ Reference Spec. No.
|_*
FOUNDATION PLAN CW 3620 1 |[07/11/18 | DESIGNED BY DILLON CONSULTING‘ : KNL
710 — 120 No.| Date Description By
+l
e Designed By: Drawn By: Scale :
1070 DIA. - EGITI KNL KNL AS SHOWN
=WAP SIGNAL POLE BASE—TYPE POD et By — —
ifi izati rawin 0.
PRE_CAST BASE INSTALLATION Certificate of Authorization SSR 07/1 1 /1 8 g
120 Dillon Consulting Limited (MB) (MEDIUM DUTY-32 DIA. BOLTS)
: Approved: SD—31 5C
No.1789 Date: _07/11/2018




	112-2020_Drawing_S-1003 Traffic Signals - Berkley & Roblin
	Sheets and Views
	Layout1


	112-2020_Drawing_S-1204 Traffic Signals - Barker, Dale & Roblin
	Sheets and Views
	Layout1


	112-2020_Drawing_S-1413 Traffic Signals - Hunterspoint & Roblin
	Sheets and Views
	Layout1


	SD-315.A Signal Pole Base  - Type PM Rev2
	SD-315.B Signal Pole Base  - Type PG Rev1
	SD-315.C Signal Pole Base  - Type POD Rev1

